	SCHEDULE OF PRICES								
	PROJECT 1-23 CONCRETE STREET PAVING								
UNIT A - NEW CONSTRUCTION STREETS									
White Dove Lane, White Birch Lane, Boxer Street, Greyhound Street, Setter Drive									
				ZIGNEGO COMPANY		VINTON CONSTRUCTION			
ITEM	DESCRIPTION 6" plain concrete pavement; Furnish and install 13520 square vards, more or less, all	QUANITY	UNITS	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE		
A1	complete for:	13520	SY	\$43.15	\$583,388.00	\$39.23	\$530,389.60		
A2	Fine grading for concrete pavement; Furnish 13520 square yards, more or less, all complete for:	13520	SY	\$1.60	\$21,632.00	\$2.00	\$27,040.00		
A3	Full depth saw cutting; Furnish 100 lineal feet, more or less, all complete for:	100	LF	\$2.25	\$225.00	\$3.00	\$300.00		
A4	Connect to Existing Pavement; Furnish and install, 4 each, more or less, all complete for:	4	EA	\$1,000.00	\$4,000.00	\$500.00	\$2,000.00		
A5	Pavement GAP; furnish and install, 1 each, more or less, all complete for:	1	EA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00		
A6	4" concrete sidewalk; Furnish and install, 28800 square feet, more or less , all complete for:	28800	SF	\$8.05	\$231,840.00	\$7.55	\$217,440.00		
A7	6" concrete sidewalk & driveway apron; Furnish and install, 19920 square feet, more or less, all complete for:	19920	SF	\$9.60	\$191,232.00	\$8.15	\$162,348.00		
A8	6" concrete curb ramp; Furnish and install, 460 square feet, more or less, all complete for:	460	SF	\$11.35	\$5,221.00	\$9.10	\$4,186.00		
A9	Detectable warning fields; Furnish and install, 8 each, more or less, all complete for:	8	EA	\$450.00	\$3,600.00	\$350.00	\$2,800.00		
A10	Removal of Miscellaneous Concrete Street; Furnish and install, 10 SY, more or less, all complete for:	10	SY	\$101.85	\$1,018.50	\$20.00	\$200.00		
A11	Removal of Concrete Street; Furnish and install, 50 SY, more or less, all complete for:	50	SY	\$50.95	\$2,547.50	\$15.00	\$750.00		
A12	1 1/4" Base Coarse Material; Furnish and install, 500 tons, more or less, all complete for:	500	TON	\$20.00	\$10,000.00	\$0.01	\$5.00		
A13	Unclassified fill; Furnish and install, one lump sum all complete for:	1	LS	\$15,950.00	\$15,950.00	\$54,080.00	\$54,080.00		
A14	Manhole Adjustments; Furnish 25 each, more or less, of manhole adjustments, all complete for:	25	EA	\$750.00	\$18,750.00	\$200.00	\$5,000.00		
A15	Inlet adjustments; Furnish, 24 each, more or less, all complete for:	24	EA	\$800.00	\$19,200.00	\$200.00	\$4,800.00		
A16	Sanitary manhole Cretex Classic Internal Chimney Seals; Furnish and Install, 11 each, more or less, all complete for:	11	EA	\$610.00	\$6,710.00	\$584.00	\$6,424.00		
A17	Sanitary manhole Cretex LSS Internal Chimney Seals w/middle bands; Furnish and Install, 1 each, more or less, of , all complete for:	1	EA	\$800.00	\$800.00	\$686.00	\$686.00		
A18	Type D-HR Inlet Protection; Furnish and install, 24 each, more or less, all complete for:	24	EA	\$115.00	\$2,760.00	\$98.60	\$2,366.40		
A19	Turf Restoration; Furnish and install, 4100 square yards, more or less, all complete for:	4100	SY	\$6.30	\$25,830.00	\$7.84	\$32,144.00		
A20	Furnish construction staking, one lump sum, all complete for:	1	LS	\$5,445.95	\$5,445.95	\$5,445.95	\$5,445.95		
A21	Furnish mobilization of all necessary equipment, one lump sum, all complete for:	1	LS	\$22,700.00	\$22,700.00	\$30,000.00	\$30,000.00		
A22	Furnish traffic control, one lump sum, all complete for:	1	LS	\$18,315.00	\$18,315.00	\$3,500.00	\$3,500.00		
				UNIT TOTAL	\$1,192,164.95	UNIT TOTAL	\$1,092,904.95		

UNIT B - RECONSTRUCTION										
CANAL STREET, OAK STREET, SCHULTIES STREET, DIXON STREET, SEVENTH STREET, QUINNEY AVENUE, METOXEN AVENUE										
				ZIGNEGO COMPANY		VINTON CONSTRUCTION				
ITEM	DESCRIPTION	QUANITY	UNITS	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE			
B1	6" Plain concrete pavement; Furnish and install 16,770 square yards, more or less, all complete for:	16770	SY	\$43.15	\$723,625.50	\$39.23	\$657,887.10			
B2	Fine grading for concrete pavement; Furnish 16,770 square yards, more or less, all complete for:	16770	SY	\$1.60	\$26,832.00	\$2.00	\$33,540.00			
В3	Full depth saw cutting; Furnish 104 lineal feet, more or less, all complete for:	104	LF	\$2.25	\$234.00	\$3.00	\$312.00			
B4	Pavement GAP; furnish and install, 2 each, more or less, all complete for:	2	EA	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00			
B5	HMA 2" Surface Course - 4LT 58-34S, Furnish and install, 45 SY, more or less, all complete for:	45	SY	\$94.50	\$4,252.50	\$94.50	\$4,252.50			
B6	HMA 2.25" Surface Course - 3LT 58-34S, Furnish and install, 24 SY, more or less, all complete for:	24	SY	\$99.25	\$2,382.00	\$99.25	\$2,382.00			
B7	HMA 1.75" Surface Course - 4LT 58-34S, Furnish and install, 24 SY, more or less, all complete for:	24	SY	\$41.50	\$996.00	\$41.50	\$996.00			
B8	4" concrete sidewalk; Furnish and install, 3940 square feet, more or less , all complete for:	3940	SF	\$7.35	\$28,959.00	\$7.05	\$27,777.00			
В9	Remove & Replace 4" concrete sidewalk; Furnish and install, 11000 square feet, more or less , all complete for:	11000	SF	\$8.90	\$97,900.00	\$7.90	\$86,900.00			
B10	6" concrete sidewalk and driveway apron; Furnish and install, 310 square feet, more or less, all complete for:	310	SF	\$8.40	\$2,604.00	\$7.80	\$2,418.00			
B11	Remove & Replace 6" concrete sidewalk and driveway apron; Furnish and install, 15,300 square feet, more or less, all complete for:	15300	SF	\$9.55	\$146,115.00	\$8.65	\$132,345.00			
B12	Remove & Replace 6" concrete curb ramp; Furnish and install, 2,780 square feet, more or less, all complete for:	2780	SF	\$10.25	\$28,495.00	\$9.15	\$25,437.00			
B13	30" Concrete Curb and Gutter; furnish and install, 30 lineal feet, more or less, all complete for:	30	LF	\$75.00	\$2,250.00	\$45.00	\$1,350.00			
B14	Detectable warning fields; Furnish and install, 29 each, more or less, all complete for:	29	EA	\$450.00	\$13,050.00	\$350.00	\$10,150.00			
B15	4" Epoxy Parking Line Paint, White, Furnish and install, 470 lineal feet, more or less, all complete for:	470	LF	\$7.00	\$3,290.00	\$7.00	\$3,290.00			
B16	Connect to Existing Pavement; Furnish and install, 4 each, more or less, all complete for:	4	EA	\$1,000.00	\$4,000.00	\$750.00	\$3,000.00			
B17	Unclassified Excavation (9650 CY); Furnish, one lump sum, all complete for:	1	LS	\$156,790.00	\$156,790.00	\$204,900.00	\$204,900.00			
B18	Unclassified fill; Furnish and install, one lump sum all complete for:	1	LS	\$21,635.00	\$21,635.00	\$67,100.00	\$67,100.00			
B19	Excavation Below Subgrade (5" Breaker Run); Furnish and install 100 CY, more or less, all complete for:	100	CY	\$41.95	\$4,195.00	\$60.00	\$6,000.00			
B20	Rock Excavation; furnish, 2 CY, more or less, all complete for:	2	CY	\$22.80	\$45.60	\$200.00	\$400.00			
B21	Geotextile fabric, Type SAS; Furnish and install, 17,600 square yards, more or less, all complete for:	17600	SY	\$1.85	\$32,560.00	\$1.95	\$34,320.00			
B22	6" of 1 1/4" Base Coarse Material over 6" of 3" Breaker Course; Furnish and install 17,600 SY, more or less, all complete for:	17600	SY	\$9.15	\$161,040.00	\$8.25	\$145,200.00			
B23	Manhole Adjustments; Furnish, 21 each, more or less, all complete for:	21	EA	\$750.00	\$15,750.00	\$200.00	\$4,200.00			
B24	Inlet Adjustments; Furnish, 2 each, more or less, all complete for:	2	EA	\$800.00	\$1,600.00	\$200.00	\$400.00			
B25	Sanitary manhole Cretex Classic Internal Chimney Seals; Furnish and Install, 20 each, more or less, all complete for:	20	EA	\$610.00	\$12,200.00	\$584.00	\$11,680.00			
B26	Sanitary manhole Cretex LSS Internal Chimney Seals w/middle bands; Furnish and Install, 1 each, more or less, of, all complete for:	1	EA	\$800.00	\$800.00	\$686.00	\$686.00			

				ZIGNEGO COMPANY		VINTON CONSTRUCTION	
ITEM	DESCRIPTION	QUANITY	UNITS	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
B27	Type D-HR Inlet Protection; Furnish and install, 37 each, more or less, all complete for:	37	EA	\$115.00	\$4,255.00	\$98.60	\$3,648.20
B28	4" PVC storm sewer laterals; Furnish and install, 1400 lineal feet, more or less, all complete for:	1400	LF	\$45.00	\$63,000.00	\$115.00	\$161,000.00
B29	6" Perforated PVC storm sewer; Furnish and install, 119 lineal feet, more or less, all complete for:	119	LF	\$46.00	\$5,474.00	\$62.00	\$7,378.00
B30	8" Perforated PVC storm sewer; Furnish and install, 318 lineal feet, more or less, all complete for:	318	LF	\$48.00	\$15,264.00	\$94.00	\$29,892.00
B31	10" Perforated PVC storm sewer; Furnish and install, 62 lineal feet, more or less, all complete for:	62	LF	\$52.00	\$3,224.00	\$90.00	\$5,580.00
B32	12" Perforated PVC storm sewer; Furnish and install, 1970 lineal feet, more or less, all complete for:	1970	LF	\$63.00	\$124,110.00	\$110.00	\$216,700.00
B33	12" RCP storm sewer, Type , Furnish and install 290 linear feet, more or less, all complete for:	290	LF	\$57.00	\$16,530.00	\$104.00	\$30,160.00
B34	15" Perforated PVC storm sewer; Furnish and install, 600 lineal feet, more or less, all complete for:	450	LF	\$85.00	\$38,250.00	\$165.00	\$74,250.00
B35	18" Perforated PVC storm sewer; Furnish and install, 150 lineal feet, more or less, all complete for:	150	LF	\$105.00	\$15,750.00	\$193.00	\$28,950.00
B36	30" RCP storm sewer; Furnish and install, 568 lineal feet, more or less, all complete for:	568	LF	\$190.00	\$107,920.00	\$239.00	\$135,752.00
B37	36" RCP storm sewer; Furnish and install, 6 lineal feet, more or less, all complete for:	6	LF	\$250.00	\$1,500.00	\$582.00	\$3,492.00
B38	Abandon 12" Storm Sewer ,Furnish and install 410 linear feet, more or less, all complete for:	410	LF	\$25.00	\$10,250.00	\$15.60	\$6,396.00
B39	Remove Catch Basin Structures,Furnish and install 6 each, more or less, all complete for:	6	EA	\$500.00	\$3,000.00	\$411.00	\$2,466.00
B40	48" diameter storm sewer manhole; Furnish and install, 23 vertical feet, more or less, all complete for:	23	VF	\$675.00	\$15,525.00	\$917.00	\$21,091.00
B41	60° diameter storm sewer manhole; Furnish and install, 48 vertical feet, more or less, all complete for:	48	VF	\$850.00	\$40,800.00	\$660.00	\$31,680.00
B42	2'x3' catch basin inlet with poured bottom; Furnish and install, 85 vertical feet, more or less, all complete for:	85	VF	\$615.00	\$52,275.00	\$885.00	\$75,225.00
B43	Remove & Replace 2'x3' catch basin inlet with poured bottom; Furnish and install, 48 vertical feet, more or less, all complete for:	48	VF	\$650.00	\$31,200.00	\$989.00	\$47,472.00
B44	Connect to Existing Storm Sewer; Furnish and install, 3 each, more or less, all complete for:	3	EA	\$500.00	\$1,500.00	\$894.00	\$2,682.00
B45	Sewer Main Televising, Furnish 3820 linear feet, more or less, all complete for:	3820	LF	\$1.31	\$5,004.20	\$1.50	\$5,730.00
B46	Turf Restoration; Furnish and install, 7,400 square yards, more or less, all complete for:	7400	SY	\$4.25	\$31,450.00	\$7.12	\$52,688.00
B47	Perform Clearing and Grubbing, one lump sum, all complete for	1	LS	\$38,000.00	\$38,000.00	\$40,000.00	\$40,000.00
B48	Furnish construction staking, one lump sum, all complete for:	1	LS	\$11,974.77	\$11,974.77	\$11,974.77	\$11,974.77
B49	Furnish mobilization of all necessary equipment, one lump sum, all complete for:	1	LS	\$4,345.00	\$4,345.00	\$30,000.00	\$30,000.00
B50	Furnish traffic control, one lump sum, all complete for:	1	LS	\$25,850.00	\$25,850.00	\$5,500.00	\$5,500.00
		UNIT TOTAL	\$2,160,051.57	UNIT TOTAL	\$2,498,629.57		

UNIT C - URBANIZATION STREETS									
Loderbauer Road									
17514	DESCRIPTION	OLIANITY	LINUTC						
ITEM C1	DESCRIPTION 8" Doweled concrete pavement; Furnish and install 2,248 square yards, more or less, all complete for:	QUANITY 2248	SY	UNIT PRICE \$51.54	TOTAL PRICE \$115,861.92	UNIT PRICE \$49.87	TOTAL PRICE \$112,107.76		
C2	Fine grading for concrete pavement; Furnish 2,248 square yards, more or less, all complete for:	2248	SY	\$1.60	\$3,596.80	\$3.00	\$6,744.00		
C3	HMA 2.25" Surface Course - 3LT 58-34S, Furnish and install, 672 SY, more or less, all complete for:	672	SY	\$14.50	\$9,744.00	\$14.50	\$9,744.00		
C4	HMA 1.75" Surface Course - 4LT 58-34S, Furnish and install, 672 SY, more or less, all complete for:	672	SY	\$12.75	\$8,568.00	\$12.75	\$8,568.00		
C5	Fine grading for asphalt pavement; Furnish 672 square yards, more or less, all complete for:	672	SY	\$5.50	\$3,696.00	\$5.50	\$3,696.00		
C6	Full depth saw cutting; Furnish 55 lineal feet, more or less, all complete for:	55	LF	\$2.25	\$123.75	\$3.00	\$165.00		
C7	Pavement GAP; furnish and install, 2 each, more or less, all complete for:	1	EA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00		
C8	4" concrete sidewalk; Furnish and install, 2,995 square feet, more or less , all complete for:	2995	SF	\$9.35	\$28,003.25	\$6.75	\$20,216.25		
C9	6" concrete curb ramp; Furnish and install, 230 square feet, more or less, all complete for:	230	SF	\$10.80	\$2,484.00	\$8.30	\$1,909.00		
C10	Connect to Existing Pavement; Furnish and install, 1 each, more or less, all complete for:	1	EA	\$1,000.00	\$1,000.00	\$750.00	\$750.00		
C11	Removal of Miscellaneous Concrete Street; 10 SY, more or less, all complete for:	10	SY	\$50.95	\$509.50	\$20.00	\$200.00		
C12	4" Epoxy Center Line Paint, Yellow, Furnish and install, 1,500 lineal feet, more or less, all complete for:	1500	LF	\$2.10	\$3,150.00	\$2.10	\$3,150.00		
C13	4" Epoxy Road Edge Line Paint, White, Furnish and install, 950 lineal feet, more or less, all complete for:	950	LF	\$2.10	\$1,995.00	\$2.10	\$1,995.00		
C14	Unclassified Excavation (1410 CY); Furnish, one lump sum, all complete for:	1	LS	\$30,133.25	\$30,133.25	\$22,000.00	\$22,000.00		
C15	Unclassified fill; Furnish and install, one lump sum all complete for:	1	LS	\$0.01	\$0.01	\$5,000.00	\$5,000.00		
C16	Excavation Below Subgrade (5" Breaker Run); Furnish and install 470 CY, more or less, all complete for:	470	CY	\$12.65	\$5,945.50	\$46.00	\$21,620.00		
C17	Geotextile fabric, Type SAS; Furnish and install, 3090 square yards, more or less, all complete for:	3090	SY	\$1.70	\$5,253.00	\$1.95	\$6,025.50		
C18	6" of 1 1/4" Base Coarse Material over 6" of 3" Breaker Course; Furnish and install 3090 SY, more or less, all complete for:	3090	SY	\$9.25	\$28,582.50	\$8.50	\$26,265.00		
C19	4" of 1-1/4" Base Course, Extra for Asphalt Pavement, Furnish and Install, 375 Square Yards, more or less, all complete for:	375	SY	\$3.10	\$1,162.50	\$6.25	\$2,343.75		
C20	Furnish and Install Medium Riprap, 20 CY, more or less, all complete for:	20	CY	\$51.90	\$1,038.00	\$84.25	\$1,685.00		
C21	Manhole Adjustments; Furnish, 2 each, more or less, all complete for:	2	EA	\$750.00	\$1,500.00	\$200.00	\$400.00		
C22	Inlet Adjustments; Furnish, 1 each, more or less, all complete for:	1	EA	\$800.00	\$800.00	\$200.00	\$200.00		
C23	Erosion control measures; Furnish and install, 6 each, more or less, all complete for:	6	EA	\$115.00	\$690.00	\$98.60	\$591.60		
C24	Culvert Pipe Check, Furnish and install, 2 each, more or less, all complete for:	2	EA	\$50.00	\$100.00	\$32.10	\$64.20		
C25	Silt Fence; Furnish and install, 620 LF, more or less, all complete for:	620	LF	\$3.00	\$1,860.00	\$2.20	\$1,364.00		
C26	12" PVC storm sewer; Furnish and install, 45 lineal feet, more or less, all complete for:	45	LF	\$64.00	\$2,880.00	\$99.00	\$4,455.00		
C27	12" RCP storm sewer; Furnish and install, 45 lineal feet, more or less, all complete for:	45	LF	\$57.00	\$2,565.00	\$100.00	\$4,500.00		

				ZIGNEGO COMPANY		VINTON CONSTRUCTION	
ITEM	DESCRIPTION	QUANITY	UNITS	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
C28	Sewer Main Televising; Furish, 90 LF, more or less, all complete for	90	LF	\$2.74	\$246.60	\$4.00	\$360.00
C29	2'x3' catch basin inlet; Furnish and install, 7 vertical feet more or less, all complete for:	7	VF	\$615.00	\$4,305.00	\$782.00	\$5,474.00
C30	Connect to Existing Storm Sewer; Furnish and install, 1 each, more or less, all complete for:	2	EA	\$500.00	\$1,000.00	\$875.00	\$1,750.00
C31	Turf Restoration with WisDOT seed mix 40; Furnish and install, 721 square yards, more or less, all complete for:	721	SY	\$8.30	\$5,984.30	\$8.23	\$5,933.83
C32	Turf Restoration with No Mow seed mix ; Furnish and install, 721 square yards, more or less, all complete for:	50	SY	\$4.45	\$222.50	\$8.62	\$431.00
C33	Furnish construction staking, one lump sum, all complete for:	1	LS	\$1,809.98	\$1,809.98	\$1,809.98	\$1,809.98
C34	Furnish mobilization of all necessary equipment, one lump sum, all complete for:	1	LS	\$11,045.00	\$11,045.00	\$7,000.00	\$7,000.00
C35	Furnish traffic control, one lump sum, all complete for:	1	LS	\$7,250.00	\$7,250.00	\$1,500.00	\$1,500.00
C36	1ft wide, 3/4" CABC Shouldering, Furnish 640 LF, more or less, all complete for:	640	LF	\$2.00	\$1,280.00	\$4.13	\$2,643.20
				UNIT TOTAL	\$295,385.36	UNIT TOTAL	\$293,661.07

PROJECT TOTAL \$3,647,601.88 PROJECT TOTAL \$3,885,195.59

PAGE 5 OF 5